IM3-Semester 2 Exam Review Name:

Vocabulary and Essential Questions:

How would you describe a NORI\/IAL-DISTRIBUTION? d&d‘a dI‘S‘Mbd?OY\ W
symmetric bowt e migsw

Draw a picture of NORMAL DISTRIBUTION and Iabel the &rts.
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How would you describe STANDARD DEVIATION? hﬂ\k) $DY¢0-A w de‘s

Problems:

1. Wh percent of the data in a normal distribution is above the mean?

2. What percent of the data in aas:rmal distribution is within 1 standard deviation above
and below the mean?

3. What is the mean and standard deviation of the graph? . _¢sp

Implied Volatility = 20%
TR 550 o= 4 10 $50
P d

$40

4. The number of sales company employees make in a month can be represented as a
normal distribution with a mean of 200 sales per month and a standard deviation of 20
sales per month. What percent of employees make less than 170 sales per month?
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Vocabulary and Essential Questions:

What is the difference between an arithmetic sequence and a geometric .
sequence?%w b‘o‘f'\“&m 2 derS 1S CMSM addjSulbk

Georedrit: Vo0 oetwenm 2 derms IS constomx Cmwih

What is the difference between a sequence and a series?w'l' of #_S

sehes: Sumof HS

Identify what the following variables stand for in the arithmetic and geometric sequence
formulas.
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d = Common " = COmmo Sn= Stawm., |
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Use the following formulas for questions #5-10

_ _ _ n-1 _ ajtay, _a(1-r") _ a
a,=a;+(n—1)d a,=ar) Sp= n(—z ) Sp= = S = =

5. Write the explicit rule for the sequence —4,0,4, 8, ...
e e e e

6. How many terms are in the following sequence? 2,9,16, 23, ...,107 l07’ 2 F ('\.'l) ?_
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o= 2+In-F

10} = -5+
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7. Find the sum of the infinite series, if it exists: 20+ 10+ 5 + 2.5 + --- h> I
H0 $=20 _ 2p
l_og \,L

8. Write an infinite series that will not have a s
A -1 Msa\l\w;k voy -
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9. The school auditorium has 4 seats in the first row, 7 seats in the second row, 10 seats in

the third row, and so on. How many seats are there if the auditorium has 15 rows?

3793e44s On= 4+(n-)3
A5=F+ (1503
Sl$’ \Q(L%) =375 ’
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10. Determine if the sequence —3, 1/,5 ,42, ... is geometric or arithmetic and then find
either the common difference or common ratio.

\ —

11. If your salary for the last 5 years has been $55,000, $55,750, $56,530, $57,321, and
$58, 123 respectively, what would you expect your salary to be after 10 years or
working at the same job assuming it keeps increasing by the same rate?

r=loM @, =650 o) ¥ (4223l

Vocabulary and Essential Questions:
Explain the difference between exponential growth and exponential decay and give an example

Gimotho: inoreaging rote | £(x- 4
wﬁ;dzevwng raH o bzl $00=0.3

Given f(x) = 2%, write the function that is described by the following transformations.

a. Right 2 units < a‘ﬂ'

b. Left 4 units = ®

c. Reflected over x-axis g[x)= -3

d. Up 3 units > %+

e. Left 5 units and down 2 units g(x)’ 3 - 3 x- 9
f. Reflected over x-axis and moved right 8 units .- 3

12. Decide if the function f(x) = (0.2)* is exponential growth or decay. Then, describe its
end behavior using limits.

im $FP  lim £0=0

P\I > -o° X200

13. Where would the asymptote be for the function f(x) = In(x — 5).

14. Find the domain and range for f(x) = 4*.
D: ("‘ /] 00) R: (_ (9, ’ oO)




15. Find the domgin and range for f(x) = log x
( (0) 1 % R: ("’ 9‘? 00)

16.1f f(x) = 2% is translated down 4 units, what is the equation of the

asymptote? }5: -L!'

17.1f f(x) = log x is translated right 3 units, what is the equation of the
asymptote? X=

18. The population of a city in 2007 was 23,453. Since then, the population has increased at
a rate of 1.3% each year. Write a function that describes the population as a function of
the number of years, t, smc'e %007’-> Use the formula N(t) = Nye™.

453

19. The number of students attending a small lllinois college increases according to the
function A = 1300e%%3¢, where t is measured in years. iow many students will be

enrolled in the college after 8 years?m 3‘0

20. Gina deposits $400 in a savings account that earns 4% interest compounded quarterly.
How much money is in her account at the end of 6 years?

nt
Use the formula A = P (1 + 1) .

A=bog |+-2) = $50289

21.The growth of bacteria fits the exponential function A(t) = 450e%°%, where t is the
number of years since 2003. Estimate the population in the year 2016.
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22. Write the expanded form of the logarithmic expression In (?’yiz)

Im3+ Yimx- Z.@h%_
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23.Solve 4% = 16 L"x = '{'

X=(s

24.Solve log, x + log, 5 = 8. )(7 6 I' 2—'

Iy, 5%=8

23~ &
256>35X -
25. Solve to three decimal places 4 - (%) = 64.

=2
(WP =0t (@)7=)

Lyt= -2x =4
(5" <o Xt

26. Use the properties of logarithms to rewrite the expression log4 11 — 2log, x as a
single logarithm. 'Om / J
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